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A0 334 PR A oD FE] - A (nd) fii
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2 | 2 JENRT i TR i O 2,980 2,980 KT
26 | 2 FEIT s Vel T O 7,170 7,170 N
2 | 2 FEpmy g Ve 1B O 2,010 2,010 K
26 | 2 FENHT S Vg 1= O 15,060 15,060 KA
2 | 2 FENRT et Ve & O 60,870 60,870 N
26 | 2 FENHT ' Wi BR O 4,950 4,950 K
26 | 2 FEPNmT At =i O 5,490 5,490 K
2 | 2 FEPHT ES kb R O 18,110 18,110 KA
26 | 2 FEpiT et [ NS O 1,110 1,110 KT
26 | 2 FENHT ' R O 7,620 7,620 K
26 | 2 FENRT i I O 2,480 2,480 Kl
26 | 2 JFEPNHT e VeE Fnfl (@] 5,580 5,580 K
26 | 2 FENRT i JEEE B O 28,400 28,400 Kl
26 | 2 FEPNHT £ (& G| (@] 6,070 6,070 K
26 | 2 FEplT i Ve s O 460 460 Kl
26 | 2 JE Ll £ Wi 1 O 12,040 12,040 IKFif
26 | 2 FEplT i [ NI O 1,490 1,490 Kl
26 | 2 FEpaHT e erk Z— (@] 1,010 1,010 K
26 | 2 FEpiT = (A STr O 15,130 15,130 Kl
26 | 2 FEPgHT e VeE BE— (@] 9,320 9,320 K
26 | 2 FEpiT = Ve Be— O 10,530 10,530 Kl
26 | 2 FEPgHT e [GEF NEEPS (@] 12,140 12,140 K
26 | 2 FEpiT = S F— O 10,830 10,830 Kl
26 | 2 JEPNET e B =0 (@] 8,500 8,500 K
26 | 2 FEPET i g HY O 42,960 42,960 KA
26 | 2 JHEPIHT g [GE O 5,690 5,690 KR
2 | 2 FEPAT A28k THE e O 19,390 19,390 KA
2% | 2 FEPHT ik JEE IE O 51,330 51,330 N
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i mo | iR | eof | A
2 | 2 JEPHT S W AT O 22,260 22,260 K
26 | 2 FEIT s JEIE MR O 11,960 11,960 N
2 | 2 JENRT i EH B O 24,350 24,350 KT
26 | 2 FENHT S BAH ~— O 3,210 3,210 KA
26 | 2 FENRT et (DR S (@] 53,330 53,330 KT
2 | 2 FEPHT ES [ v O 27,500 27,500 K
2 | 2 FENRT et Ve IEF O 24,050 24,050 K
26 | 2 FENHT S [T O 990 990 KA
26 | 2 FEPNRT e [T Ar— @) 27,150 27,150 N
26 | 2 FENHT ' ESTIREPS O 31,260 31,260 K
26 | 2 FEpT e i O 6,970 6,970 ki
26 | 2 JFEPNHT e Pl st (@] 55,260 55,260 K
26 | 2 FEplT i L TR O 46,640 46,640 Kl
26 | 2 FEPNHT £ HH e (@] 2,000 2,000 K
26 | 2 FEplT i e 5 O 24,640 24,640 Kl
26 | 2 FEPNHT £ ks (@] 54,850 54,850 K
26 | 2 FEplT i g & O 7,510 7,510 Kl
26 | 2 FEpaHT e L O 3,280 3,280 K
26 | 2 FEpiT = EH = O 5,140 5,140 Kl
26 | 2 JFEPHT g AT B O 59,480 59,480 KA
26 | 2 FEpiT = P R — O 21,230 21,230 Kl
26 | 2 JE T e AT i O 39,710 39,710 IKFf
26 | 2 FEpiT i AR S O 20,000 20,000 Kl
26 | 2 FEPgHT e Ve B O 16,570 16,570 K
26 | 2 FEPET i &7 Bl O 1,110 1,110 KA
2 | 2 FEPHT g s E— O 28,630 28,630 N
2 | 2 FEPNIT 2hik Ffs =] O 64,980 64,980 KA
2 | 2 FEPHT A5 Jes Bl O 50,880 50,880 N
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2 | 2 JENRT Al [DE ) (@] 27,520 27,520 K
26 | 2 FEPNIT 4l fiils A O 52,150 52,150 ki
2 | 2 JENRT i &F IEAT O 73,370 73,370 KT
26 | 2 FENHT S &7 O 4,160 4,160 KA
2 | 2 FENRT et Ve 159 O 21,640 21,640 KT
26 | 2 FENHT ' g O 31,310 31,310 K
2 | 2 FENRT et Ve #ah O 61,750 61,750 K
26 | 2 FENHT S NCRESG S O 26,520 26,520 KA
2 | 2 FEPHT e PEEL O 67,790 67,790 KT
26 | 2 FENHT ' P RIRES O 10,700 10,700 K
26 | 2 FENRT i /N O 1,320 1,320 Kl
26 | 2 JFEPNHT e e NEF (@] 12,050 12,050 K
26 | 2 FEplT i P Fe O 27,290 27,290 Kl
26 | 2 FEPNHT £ VelE FHik O 10,700 10,700 K
26 | 2 FEplT i iR TR (@] 29,130 29,130 Kl
26 | 2 JE Ll £ Kig # O 24,160 24,160 IKFif
26 | 2 FEplT i VewE O 5,770 5,770 Kl
26 | 2 JFENRT ] VeE el (@] 2,660 2,660 IKF
26 | 2 FEpiT i JERE R O 32,860 32,860 Kl
26 | 2 JEPNET e HEA Be—HL (@] 53,010 53,010 K
26 | 2 FEpiT = VewE O 33,470 33,470 Kl
26 | 2 FEPgHT e K Fefn O 17,300 17,300 K
26 | 2 FEpiT i TR ek O 91,450 91,450 Kl
2 | 2 JE Ll e T O 25,570 25,570 IKFf
26 | 2 FEPET i Wk H (@] 9,300 9,300 KA
2 | 2 FEPNRT g i O 9,350 9,350 T
26 | 2 FEpT > i O 84,050 84,050 KA
26 | 2 JEPNIT i Ve IEK (@] 47,410 47,410 K
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i mo | iR | eof | A
2 | 2 JENRT i i e O 16,450 16,450 KT
26 | 2 FEIT s ek iR O 37,110 37,110 N
2 | 2 JENRT i erx AR BiZ (©] 17,970 17,970 KT
26 | 2 FENHT S ey e (@] 14,890 14,890 KA
2 | 2 FENRT et 7Y fl— O 6,550 6,550 KT
26 | 2 FENHT ' g =8 (@] 8,920 8,920 K
26 | 2 FEPNmT e W B (@] 23,050 23,050 K
26 | 2 FENHT S ek fl— (@] 6,670 6,670 KA
2 | 2 FENRT et PR Z—EL O 27,920 27,920 KT
26 | 2 FENHT ' L (@] 6,750 6,750 K
26 | 2 JEPIRT e HHE IE O 2,620 2,620 ki
26 | 2 JFEPNHT e A1 2R (@] 21,040 21,040 K
26 | 2 FENRT i EEVIIIIN | (@] 3,060 3,060 Kl
2 | 2 FEPNHT Axtaf s O 6,070 6,070 IKFi
26 | 2 FENRT i £l T (@] 4,790 4,790 Kl
26 | 2 FEPNHT £ TE FEEZ (@] 13,220 13,220 K
26 | 2 FENRT i i O 12,770 12,770 Kl
2 | 2 JE Ll o AN O 7,140 7,140 IKFf
26 | 2 FEpiT = Enn T O 25,931 25,931 Kl
26 | 2 FEPgHT e (B O 6,870 6,870 K
26 | 2 FEpiT = P O 18,860 18,860 Kl
2 | 2 JFENET £ i 2 (@] 43,520 43,520 K
26 | 2 FEpiT = B R O 230 230 Kl
2 | 2 JE Ll e A H— O 8,380 8,380 IKFf
26 | 2 FEPET g P 1 O 12,220 12,220 KA
2 | 2 FEPHT g ik H— O 590 590 KR
26 | 2 FEPET i BB fix (@] 3,430 3,430 KA
26 2 FEPNET St BER S KR O 219,530 219,530 YN
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26 | 2 HEpmT Ll T s O 39,790 39,790 N

26 | 2 FEIT s BB (@] 3,000 3,000 N

26 | 2 HEmT e JIFE —%& O 30,000 30,000 N

2 | 2 T Sl s A O 30,000 30,000 ki

26 | 2 JEPIHT e [ NN ) 3,480 3,480|  JKFE- K
26 | 2 FENHT ' e B O 114,000 114,000 K

2 | 2 FENRT et Rz (@] 4,430 4,430 K

26 | 2 FENHT S EH (@] 2,520 2,520 KA

2 | 2 FENRT et R Rk (@] 2,510 2,510 KT

26 | 2 FEpT ' R fiz O 2,770 2,770 KFif

26 | 2 FEplT i £l A O 5,750 5,750 Kl

26 | 2 JFEPNHT e NP B (@] 100,000 100,000| 7KFG- K-8
26 | 2 FEplT i AR HEZ O 28,310 28,310 Kl

2 | 2 FENRT At B[ 4 — R O 20,000 20,000 K

26 | 2 FEplT i ATA) IER O 19,720 19,720 Kl

26 | 2 FEPNHT £ ol (@] 9,300 9,300 K

26 | 2 FEplT i AR ZFdb<Y (@] 100,000 100,000| 7K+ K->/ 23
2% | 2 FEPAT e Ve —H o) 10,000 10,000 M‘é‘gz*‘”@
26 | 2 FEpiT i ECIEREPS O 30,000 30,000 Kl

26 | 2 FEPgHT e TiE B— (@] 11,920 11,920 K

26 | 3 FEpiT i Y ik (@] 2,000 2,000 Kl

26 | 3 FEPgHT e M —R (@] 6,000 6,000 K

26 | 3 FEpiT = MEAR 1E3E O 20,000 20,000 Kl

26 | 3 JEPNET e KH O 20,000 20,000 K

26 | 3 FEPET i S SARN O 30,000 30,000 KA

2 | 3 JEPNIT g Ve (@] 50,000 50,000 KF

26 | 3 FEPET Ak AR EN s bEg R s O 140,000 140,000 KR

26 | 3 JHEPIHT g BRI ) 17,650 17,650 N
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26 | 3 JENRT g K2 IER (©] 20,200 20,200 KT
26 | 3 FEIT s A T2 O 198,040 2,500 200,540 | /KFig - 4E A+ KL
2% | 3 FEPNmT Ak FtE (©] 10,000 10,000 KT
26 | 3 FENIT S AR % (@] 10,000 10,000 KA
26 | 3 E i £ RS (@] 177,320 177,320 KT
26 | 3 FEPHT ES bk a5z (@] 40,900 40,900 K
26 | 3 FEpy et g s (@] 43,700 43,700 K
26 | 3 FENHT S AU B (@] 10,000 10,000 KA
26 | 3 FENRT et KE T+ O 5,000 5,000 KT
26 | 3 FENHT ' 5105 (@] 15,000 15,000 K
26 | 3 FEPIT e LB e @) 30,000 30,000 ki
26 | 3 JFEPNHT e UL S O 20,000 20,000 K
26 | 3 FEPIT e LB AR @) 25,000 25,000 ki
26 | 3 FEPNHT £ A~ T+ O 30,000 30,000 K
26 | 3 FEplT i Vewk % O 12,000 12,000 Kl
26 | 3 FEPNHT £ R (@] 20,000 20,000 K
26 | 3 FEplT i FKEE 8K O 10,000 10,000 Kl
2 | 3 JE Ll e FtjE H— O 10,000 10,000 IKFf
26 | 3 FEpiT i HKEE 5l O 100,000 100,000 Kl
26 | 3 JEPNET e i R (@] 10,000 10,000 K
26 | 3 FEpiT i T & O 12,000 12,000 Kl
26 | 3 JEPNET e PeiE (@] 20,000 20,000 K
26 | 3 FEpiT i TR Ak O 59,350 59,350 Kl
26 | 3 JEPNET e EE 7% (@] 30,000 30,000 K
26 | 3 FEPET g RINK kst O 15,000 15,000 KA
2 | 3 JEPNIT g w1 (@] 7,000 7,000 K
26 | 3 FEPET i S P O 30,000 30,000 KA
2 | 3 JEPNIT i il B (@] 27,000 27,000 K
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2% | 3 FEPNmT Ak Ft et O 70,000 70,000 KT
26 | 3 FEIT = EE FE O 10,000 10,000 N
26 | 3 JENRT i [ O 25,000 25,000 KT
26 | 3 FENHT S i & (@] 10,000 10,000 KA
26 | 3 E i e BRI R O 30,000 30,000 KT
26| 3 FEpT ' NH H#E O 94,050 1,100 95,150 k- #F 3
26 | 3 FENRT et A IESL O 20,000 20,000 K
26 | 3 FENHT S VEE i (@] 70,000 70,000 KA
26 | 3 FENRT et [DEiE=3 (@] 10,000 10,000 KT
26 | 3 FENHT ' [DE TN O 10,000 10,000 K
26 | 3 FEplT i LW Wz O 100,000 100,000 Kl
26 | 3 JFEPNHT e FAH SR O 30,000 30,000 K
26 | 3 FEPIT S LIS O 95,380 1,500 96,880  AKHE-BFHE
26 | 3 FEPNHT 4t A 5F (@] 20,000 20,000 K
26 | 3 FENRT i HUNSEIE 52 O 40,000 40,000 Kl
26| 3 JE Ll £ VEE AR O 20,000 20,000 IKFif
26 | 3 FEplT i JE et O 30,000 30,000 Kl
26 | 3 JEPNET e Fa[fR — (@] 40,000 40,000 K
26 | 3 FEpiT = P B O 50,000 50,000 Kl
2 | 3 JE Ll e TR el O 10,000 10,000 IKFf
26 | 3 FEpiT i TR I O 10,000 10,000 Kl
2 | 3 JE Ll e Gk B O 15,000 15,000 IKFf
26 | 3 FEpiT i i IE2% O 25,000 25,000 Kl
26 | 3 JEPNET e LY IPS (@] 14,000 14,000 K
26 | 3 FEPET i H O 20,000 20,000 KA
26 | 3 JEPNIT i KM - O 6,000 6,000 KT
26 | 3 T g TEE R (@] 20,000 20,000 K
26 | 3 JEPNIT i K 7% (@] 57,000 57,000 K
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26 | 3 JEPIHT B BT EH O 50,000 50,000 N
26 | 3 FEIT s g Fnsk O 20,000 20,000 N
2 | 3 FEPIT Aolif Hly i @) 53,730 53,730 N
26 | 3 FENHT S AKH B (@] 10,000 10,000 KA
26 | 3 FENRT et il ] (@] 40,000 40,000 KT
26 | 3 FENHT ' g e (@] 10,000 10,000 K
26 | 3 FENRT et %I i (@] 20,000 20,000 K
26| 3 FEpT S R &KiE O 60,400 60,400 IKFif
26 | 3 FENRT et SR il (@] 6,000 6,000 KT
26 | 3 FENHT ' S ¥ (@] 30,000 30,000 K
26 | 3 FENRT i i EAS O 100,000 100,000 Kl
26 | 3 JFEPNHT e Fs it — (@] 20,000 20,000 K
26 | 3 FEplT i Sl BE— O 50,000 50,000 Kl
2 | 3 FEPET e g — O 104,940 104,940 IKFi
26 | 3 FEplT i vEks & O 50,000 50,000 Kl
26 | 3 FEPNHT £ KH FH— (@] 10,000 10,000 K
26 | 3 FEplT i TiE B O 20,000 20,000 Kl
26 | 3 FEPNET B KH E O 64,040 300( 9,500 73,840 K- Skt
26 | 3 FEpiT = [ S5 O 26,000 26,000 Kl
26 | 3 JEPNET e s f— (@] 20,000 20,000 K
26 | 3 FEpiT i Hiey Hi— O 20,000 20,000 Kl
26 | 3 JEPNET e P i O 20,000 20,000 K
26 | 3 FEPIT B N O 57,000 1,000 58,000 /KA - st
26 | 3 JEPNET e o HAE O 20,000 20,000 K
26 | 3 JFEPRT g EIMAIEAZrRHEEYT7—4 O 100,000 100,000 Ak
26 | 3 JEPNIT g &N (@] 20,000 20,000 K
26 | 3 FEPET i w5 O 3,000 3,000 KA
26 | 3 JEPNIT g £l PE— (@] 20,000 20,000 K
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26 | 3 FEIT Ll INBFRE O 10,000 10,000 N
26 | 3 FEIT s Ve Bl O 50,000 50,000 N
26 | 3 HEpmT B ek ke @) 20,000 20,000 N
26 | 3 FENHT S i LR O 10,000 10,000 KA
26 | 3 FENRT et il =% O 20,000 20,000 KT
26 | 3 FENHT ' A A O 20,000 20,000 K
26 | 3 FENRT et FAT IEHE O 10,000 10,000 K
26 | 3 FENHT S AR RS O 6,000 6,000 KA
27 | 1 FEPNET e A & O 19,350 19,350 | ki K. -HE
27 | 1 FEpT ' Vi sErE O 33,467 33,467 KFif
21 | 1 FEPIT e el sk @) 12,055 12,055 ki
27 | 2 JFEPNHT e A Bk (@] 4,190 4,190 AKFE-KE
27 | 2 FEplT i Ve 5iER O 16,090 16,090  /KfE- K
27 | 2 FEPNHT £ P O 19,160 19,160  ZKfE- KH
27 | 2 FEplT i [T IE M O 13,040 13,040 /KfE- K
27 | 2 FEPNHT £ IS L] (@] 6,140 6,140|  Kfii- Ko
27 | 2 FEplT i Ve IE— (@] 7,530 7,530 KFE-KE
27 | 2 JEPNET e g —Z (@] 6,940 6,940|  KFiie KE
27 | 2 FEpiT = PR R — O 6,040 6,040  KFE-KE
27 | 2 JEPNET e 0 F—Ep (@] 14,310 14,310 /Kfi- K
27 | 2 FEpiT i U S O 14,080 14,080| Ak K
27 | 2 JEPNET e CUieE-3) (@] 10,080 10,080 7k K
27 | 2 FEpiT = bl w3 O 3,220 3,220 KFE-KE
27 | 2 JE Ll o Al ZEE O 6,140 6,140  JKFE- K&
27 | 2 FEPET i A1 fih— O 6,200 6,200|  KFii- KT
27 | 2 JEPNIT i i e @] 26,310 26,310  Kfii- K&
27 | 2 FEPET i TR Kk O 22,280 22,280  KFii- KT
27 | 2 FEPHT g Vi & O 510 510 kA K
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27 | 2 JENRT i HKEE T O 7,400 7,400 KT
21 | 2 FEpaT e N O 2,930 2,930  KFE-KRTE
21 | 2 FEpmy g PRk RAE O 39,179 39,179|  KFE-KE
27 | 2 FENHT S RIS AR Y — O 300,000 300,000 KA
271 | 2 FENRT et JEFHAIEANETIDT 77— L (@] 90,300 90,300 KT
27 | 2 FENHT ' RIS TE AR 7 — 4 O 230,000 230,000  AKFE- K
27| 2 JEPNET et BEHAEAETRZ Y- T 7— A @] 800,000 800,000  AKFE- KE
27 | 2 FENHT S JEFRLATEANEND O 450,000 450,000  AKFE- K
271 | 2 FENRT et A BEANE T (@] 800,000 800,000| Ak K
21 | 2 FEPNHT el B A EAR Y — L7 7 — Aol R O 300,000 300,000|  AKFE- KT
27 | 2 FENRT = FEFHAEART S e—T (@] 1,100,000 1,100,000 K- K&
27 | 3 JFEPNHT e [ IPN} (@] 101,590 101,590 K
27 | 3 FEplT i RRE K O 3,200 3,200 Kl
27 | 3 FEPNHT £ AN (@] 26,510 26,510 K
27 | 3 FEplT i SH R O 10,830 10,830 Kl
27 | 3 FEPNHT £ LRE Hhk O 97,164 97,164 K
27 | 3 FEplT i [ (@] 21,100 21,100 Kl
27 | 3 FEpaHT e Lk % (@] 9,184 9,184 K
27| 3 FEpiT = PR T3 O 8,060 8,060 Kl
27 | 3 JEPNET e L) 755 (@] 54,760 54,760 K
27| 3 FEpiT i I O 7,781 7,781 Kl
28 | 1 JEPNET e Fa[iR IEE O 1,641 1,641 AkfE- K
28 | 1 FEpiT = EE I S O 2,990 2,990  KFE-KE
28 | 1 JEPNET e AT % (@] 18,245 18,245 /K- KH
28 | 1 FEPET g Fs 2 O 29,686 29,686|  KfiE- KE
28 | 1 JEPNIT g T = (@] 4,648 4,648  AKFE- KE
28 | 1 FEPET g HMA H O 17,523 17,623 ZKfi- K
28 | 1 JEPNIT g il IEE O 2,965 2,965  KFE- KE
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28 | 1 JENRT i G A— O 3,253 3,253 JKFE-KE
28 | 1 FEpaT e g —Z O 12,957 12,957  Kfi- K&
28 | 1 JENRT g2 Bk IE (@] 3,000 3,000 K

28 | 1 FENHT S 51 e O 12,800 12,800  /KfE- KHE
28 | 1 FEPNET Al VeE A O 9,500 9,500  AKAE- KE
28 | 1 FENHT ' A Bt O 3,700 3,700|  KFiie KT
28 | 1 HEpmT e FitE ki @) 31,000 31,000 N

28 | 1 FENHT S AR AR O R O 26,000 800 26,800( /K- Bp3E

28 | 1 JE i e WE B O 11,100 11,100 ]

28 | 1 FENHT ' Vg % O 16,200 16,200 K

28 | 1 FEplT i e H— O 8,100 8,100 Kl

28 | 1 JFEPNHT e TngE s O 3,000 3,000 K

28 | 1 JEPIRT e R i O 10,200 10,200|  JkFE-Z1E
28 | 1 FEPNHT £ RS D5 (@] 2,800 2,800 K

28 | 1 JEPIRT e TR O 6,200 6,200  AKFiE-ZIE
28 | 1 FEPNHT £ e e (@] 18,200 18,200  JKFi-ZIE
28 | 1 JEPIRT e FEE R O 8,300 8,300 ki

28 | 1 JEPNET e 3 TN (@] 10,000 10,000|  7KkFE-ZiE
28 | 1 FEpiT i TR il O 10,000 10,000 Kl

28 | 1 JEPNET e B R (@] 10,000 10,000 K

28 | 1 T PIET 4k BERASGEAEODET7—H | O 50,000 50,000 7}‘*@'%%@“
28 | 1 FEPHT g P AL A A T o) 30,000 30,000 Mﬁj;"ifﬂ
28 | 1 FEpiT i HiE s (@] 2,343 2,343|  KFi- KT
28 | 2 JFENRT ] JEFHLAIEASIRIRT 7— 2 @] 350,000 350,000 | 7KFifi - Z (- B
28 | 2 FEPET g VT (@] 100,000 100,000 7KfE- K&
28 | 2 FEPHT £ FEE Ak O 50,000 50,000  Kffe K&
28 | 2 FEPET > VeE % (@] 50,000 50,000 K- KT
28 | 3 JEPNIT g LG A O 30,000 30,000  AKFE-EIE
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28 | 3 JENRT i FA[R 1E— O 5,000 5,000  KFE-KE

28| 3 FEPNIT 4l K (@) 100,000 100,000 KFE+ KT

28 | 3 JENRT i VN O 100,000 100,000 /K- K&

28 | 3 FENHT S AN ! O 100,000 100,000 1

28 | 3 FENRT et PR O 100,000 100,000 A « i 3% 27 3

28 | 3 FENIT S JH Wk O 100,000 100,000 K

28 | 3 FEpy et SR O 10,000 10,000{  /KfE- K=

28 | 3 FENHT S Lk % O 10,000 10,000|  AKfiG K

28| 3 FERmT Al JIFE & (@) 10,000 10,000  kfi- K&

28 | 3 FEPHT ES JIFE —% O 100,000 100,000 K

28 | 3 FENRT i K Fhi (@) 100,000 100,000 Kl

28 | 3 JFEPNHT e Pl b (@) 50,000 50,000 K

28 | 3 FEPIT e e FE— O 60,000 60,000  KE KE

28 | 3 FEPNHT £ EESaRte O 50,000 50,000  AKFifi- KE

28 | 3 FEPIT e M =& O 10,000 10,000 N

28 | 3 JE Ll £ KB IsFn (@) 70,000 70,000|  KHE-AES
Ahw X

29 | 1 JEPIRT o ik 19 O 3,000 3,000 éeaﬁ-%f-a‘%m

29 | 1 FEpaHT e ENCIRESE O 10,000 10,000 K

29 | 1 FEpiT = Vefk B0 O 10,000 10,000 Kl

29 | 1 JEPNET e I O5F (@] 10,000 10,000{  ZKFE- KH

29 | 1 FEpiT = Ve i (@] 10,000 10,000| Ak K

29 | 1 FEPgHT e iz (@] 30,000 30,000 AKFife KE

29 | 1 FEpiT = gk 3E O 10,000 10,000 Kl

29 | 1 FENRT Ahk wE (@] 30,000 30,000 ;Jﬁ‘

29 | 1 FEPET g FERERAIENT 7 — 2 L (@] 300,000 300,000  AKHE- KT

29 | 2 FEPHT A5 [REiN-1 ] O 32,000 32,000 KR

29 | 2 FEPET i ] (@] 7,000 1,000 8,000  AKHE- KT

29 | 2 FEPHT £ i O 28,000 28,000 KR
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29 | 2 JENRT i FAE - BR O 20,000 20,000 KT
29 | 2 FEpaT e a9 O 20,000 20,000|  KFE- KT
29 | 2 FEpmy g BHEMATEADTE O 250,000 250,000| KFE-Z - KE
29 | 3 FEPSHT B i O 30,000 30,000 IKFif
29 | 3 FEpmT e B R O 30,000 30,000 N
29 | 3 FENHT ' he k— (@] 20,000 1,000 21,000  sKkFi-Bp3E
29 | 3 FEpy et R i (@] 20,000 20,000 K
29 | 3 FEPET S i 2 (@] 20,000 20,000 KA
29 | 3 FENRT et i fER (@] 10,000 10,000{  AKfE- K=
29 | 3 FEpT ' by = O 10,000 10,000|  Akfife K
29 | 3 FENRT i EE O (@] 10,000 10,000{  ZKfE- K
29 | 3 JFEPNHT e P ELR (@] 10,000 10,000{  ZKFE- K
29 | 3 FEplT i [T BRI O 10,000 10,000{  ZKfE- K
29 | 3 FEPNHT £ T 5 (@] 10,000 10,000{  ZKFE- K
29 | 3 FENRT i TERE Hhi— O 20,000 20,000 Kl
29 | 3 FEPNHT £ Pl Bk (@] 8,000 8,000(  AKFE- KHE
29 | 4 FENRT i R B (@] 1,000 1,000 Kl
29 | 4 JE Ll o v O 10,000 10,000|  AKfiEe K
29 | 4 FEpiT = ARE O 10,000 10,000 Kl
29 | 4 FEPgHT e ks FAE (@] 10,000 10,000 K
29 | 4 FEpiT = ARtk AR O 10,000 10,000 Kl

30 | 1 JEPNET e T ERK (@] 52,000 52,000  AKFife KE
30 | 1 FEpiT = VewE &ik O 200,000 200,000  AkfiE- KE
30 | 1 FEPgHT e R 0T (@] 30,000 30,000 7KHE- K E- B3
30 | 1 FEPET g Per ik —I O 50,000 50,000 KA
30 | 1 JEPNIT g AR O 50,000 50,000  AKFife KE
30 | 1 JFEPRT e SR AEAT V- T —2BAl O 200,000 200,000 AKFE-EI1E
30 | 1 JEPNIT i R\ S L (@] 200,000 200,000 AKFE- K
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30| 2 JENRT i AR FHA (©] 50,000 50,000  KfE- K&
30 | 2 FEIT s E= | (@] 50,000 50,000 [ /K- K- Z 1%
30| 2 JENRT g Tk Bk (©] 40,000 40,000 KT
30 | 2 FENHT S TR AR O 50,000 50,000 KA
30 | 3 FEpiT et Ve —& O 50,000 50,000  Kfi- K&
30| 3 FENHT ' Il AR (@] 500 500| K K
30 | 3 FENRT et A fE— (@] 20,000 20,000 K
30| 3 FEpT S Vel Z2R O 10,000 10,000 KA
30 | 3 FENRT et NSRS B (@] 10,000 10,000 KT
30 | 3 FENIT S EH (@] 10,000 10,000 K
30 [ 3 FENRT i & O 10,000 10,000{  ZKfE- K
30 3 FEPNHT Al W Wi (©] 500,000 500,000 K
30 [ 3 FEplT i Ve w— O 50,000 50,000 Kl
30 | 3 FEPNHT £ T R (@] 15,000 15,000|  ZKFE- K
30 | 3 JEPIRT e R & O 30,000 30,000  AKFiE-ZIE
30 | 3 FEPNHT £ LR G O 10,000 10,000{  ZKFE- K
30 [ 3 FENRT i W M O 10,000 10,000 Kl
30 | 4 JE T Eeq UN O 250,000 250,000|  AKFi-EIE
30 | 4 FEpiT i AR E(E (@] 40,000 40,000  JKfE-EIE
30 | 4 FEPgHT e VeE FK% (@] 30,000 30,000  AKFife KE
30 | 4 FEpiT = VewE K O 500,000 500,000  Akfi- KE
1 1 FEPRT e VeE O 10,000 10,000|  AKfiGe K
1 1 FEpiT = AN (@] 20,000 20,000  AKFE- KE
1 2 FEPNIT B THE fEE @) 10,000 10,000  Afi- KE
1 2 FEPET g A il (@] 10,000 10,000| Ak K
1 2 JEPNIT g T ABR (@] 20,000 20,000  AKFF-ZIE
1 2 FEPET i TR (@] 30,000 30,000 AKFE-KE
1 2 JEPNIT g R el (@] 10,000 10,000 N
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1 2 E L ] B s (@] 10,000 10,000 K

1 2 FEIT s [ N1 (@] 10,000 10,000| Ak K

1 5 JENRT i EH R (©] 100,000 100,000 kg K&

1 5 FEPIT el e W @) 100,000 100,000f  Afi- KT

1 5 FENRT et M (@] 15,000 15,000 /K- 7 3%

1 5 FEPHT ES Tik B (@] 20,000 20,000 K

1 5 HEpmT 2k S O 30,000 30,000|  KFE-KE

1 5 FEPIT el A8 K O 10,000 10,000f  Aff- KT

1 5 FEIT Ak M i ) 120,000 120,000 N

1 5 FENHT ' JIIE FE (@] 30,000 30,000  AKFife KT

1 5 FEplT i R Ek O 10,000 10,000 Kl

1 5 JFEPNHT e sl - (@] 10,000 10,000 K

1 5 JEPIRT e TR O 30,000 30,000 ki

1 5 FEPNHT £ rH —% O 300,000 300,000  KFi- b

1 5 FEplT i [T =2 O 10,000 10,000{  ZKfE- K

1 5 FEPNHT £ A (@] 10,000 10,000{  ZKFE- K

1 5 FEplT i R 4 O 50,000 50,000 Kl

1 5 FEPRT e iR ER O 10,000 10,000 7k 46

1 5 FEpiT i N (@] 50,000 50,000  /KkfiE-BF3E

1 5 JFENRT g S O 50,000 50,000  AFie KE

1 5 FEpiT = AT (@] 30,000 30,000 AKFE- KE

1 5 FEPNRT g Eti1S @) 20,000 20,000|  AKFEe KE

1| o5 | memeEr 2 IS o 10,000 10,000 **m'ch'm"

1| o5 | mmEr g WG % o 10,000 10,000 *m'%g'ﬁf”

1|5 JEART 4 KK Bk o} 100,000 100,000 7’;“ﬁ+fi‘i£‘j‘

1 5 JEPNIT i e (@] 10,000 10,000  JKfi-Z1E

1 5 FEPET > INEFSE B O 10,000 10,000| Ak K

1 5 JEPNIT g JIGEE (@] 30,000 30,000 K- KE
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1 5 JENRT i £ R (©] 30,000 30,000 KkfE- KE

1|5 JEPIT B e FRH O 100,000 100,000 KFE+ KT

1 5 JENRT i I (©] 40,000 40,000|  Akfife K

1 5 FEPHET i i ] (©] 30,000 30,000 KA

1 5 FEpmT e M fh— O 50,000 50,000 N

1 5 FENHT i M —#% (@] 80,000 80,000 K

1 5 FENRT et B IR (@] 10,000 10,000 /K- 1L

1|5 FEPIT el ek E& O 50,000 50,000| K- {EF

1 5 FEpiT et el % (@] 5,000 5,000 KT

1 5 FEpT i A O 30,000 30,000  KFE- LS

1 5 FEPNRT S E# R O 5,000 5,000|  KFE-AES

1 5 JFEPNHT e LAY IES (@] 10,000 10,000|  AKFif - fEA

1 5 FENRT i P %k O 10,000 10,000 Kl

1 5 FEPNHT £ MR F— (@] 10,000 10,000  JKFi-Z1E

1 5 JEPIRT e Ve R O 5,000 5,000  AKFig-ZIE

1 5 FEPNHT £ i KB (@] 10,000 10,000  JKFi-Z1E

1 5 JEPIRT e i A — O 10,000 10,000|  JkFE-Z1E

1 5 JEPNET e . —FK (@] 30,000 30,000  AKFE-EIE

1 5 FEpiT = i e (@] 3,000 3,000 KFE-KE

1 5 JEPNET e TR 3 (@] 10,000 10,000{  ZKFE- KH

1 5 FEpiT i TR B (@] 5,000 5,000 Kl

1 5 JEPNET e I (@] 30,000 30,000  AKFF-EIE

1 5 FEpiT = [N O 3,000 3,000 Kl

1 5 FEPgHT e VNS N (@] 20,000 20,000 KFife KE

1 5 FEpT e EE * O 50,000 50,000 7Kk BF3E

1 5 JEPNIT Al = B O 1,000 1,000 nE

1 5 FEpT g Frds  EL O 70,000 70,000 | AKHE - # + K T

1 5 FEPNRT Al W Fuvr @) 5,000 5,000|  AKfE-KE
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1 5 HEpmT Ll MR ANERN O 100,000 100,000 N

2 1 FEPIT B =9y O 70,000| 10,000 80,000  AKFF-ZIE
2 1 JENRT i R fh— (©] 20,000 20,000 AKFE-ZIE
2 1 FENHT S NH 5 (@] 5,000 5,000 KA

2 1 FEPNRT e R HE O 10,000 10,000 N

2 1 FENHT ' RN ERESS (@] 29,700 29,700  KFif- KT
2 1 FEPNRT e Tk T ) 40,000 40,000  AkfE- KE
2 1 FEPIT el e T @) 20,000 20,000|  AKFE- KT
2 1 FEPHT Ak Ve bk O 25,000 25,000  Kfif- KE
2 1 FENHT ' VNN ES (@] 20,000 20,000  AKFE-ZIE
2 1 FENRT i SRS (@] 20,000 20,000 KFif- KE
2 2 JFEPNHT e T 2%H (@] 10,000 10,000|  KF ZiE
2 2 FEPNRT 2ahif LI O 80,000 80,000\  /KFE KT
2 2 FEPNHT £ i % (@] 20,000 20,000( KfE K
2 2 FENRT i HH O 20,000 20,000 Kl

2 2 FEPNHT £ HH BE (@] 30,000 30,000 K

2 2 FEplT i EY O 20,000 20,000 Kl

2 2 FEpaHT e RO O 5,000 5,000 /kfE ZiE
2 1 JFEPRT e HAL ] O 50,000 50,000 ki

2 4 FEPSHT A (ORI PN O 50,000 50,000 IKFi

2 4 FEpiT = iR ER (@] 100,000 100,000 ZKfE- K
2 4 JEPNET e £l BE— O 20,000 20,000 KFife KE
2 4 FEpiT = KB g O 10,000 10,000 Kl

2 4 FEPHT A4k HE T (@] 30,000 30,000 K

2 4 FEPET g R 0 (@] 10,000 10,000| Ak K
2| 4 JHEPIHT g [GE 3 O 5,000 5,000 KR

2 4 FEpT e Rri mE O 40,000 40,000 Kl

2 4 JFENRT g ANBR Rz @] 10,000 10,000  ZKFiE- K
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2 4 JENRT g I O 6,000 6,000(  KFE- KE
2 4 FEIT s A3 (@] 10,000 10,000  JKFi-ZiE
2 4 JENRT i AR —i& (©] 30,000 30,000(  KFE- KE
2 4 FEpT i g — O 10,000 10,000|  AKfiGe K
2 | 4 FEPNRT e B it ) 42,600 42,600  kfE- KE
2 4 FENHT e EAk 1l O 10,000 10,000|  AKfik K&
2 4 FENRT et I EE (@] 10,000 10,000{  /KfE- K=
2 | 4 FEPIT el B 5 O 30,000 30,000|  AKFE- KT
2 4 FEPHT e 2 =LA O 10,000 10,000| Ak K
2 | 4 FEPIT el VeRE 7 @) 10,000 10,000f  Afi- KT
2 4 FEplT i g IEAN O 30,000 30,000 Kl

2 4 JFEPNHT e KB (@] 5,000 5,000 K

2 4 FEplT i L#F — O 10,000 10,000 Kl

2 4 FEPNHT £ A REK (@] 10,000 10,000 K

2 4 FENRT i PEEL e (@] 10,000 10,000{  ZKfE- K
2 4 FEPNHT £ 51 (@] 20,000 20,000 K

2 4 FEplT i Ve EH— (@] 30,000 30,000  AKFif- KE
2 4 JE Ll e R fh— O 10,000 10,000|  7kFE-ZiE
2 4 FEpiT i i B (@] 10,000 10,000| Ak K
2 4 FEPRT e ik O 5,000 5,000  KFEeKE
2 4 FEpiT i e B O 60,000 60,000 Kl

2 4 JEPNET e M IE& (@] 5,000 5,000  AKFE-ZIE
2 4 FEpiT = 5 IER (@] 10,000 10,000| Ak K
2 4 FEPgHT e HE R (@] 5,000 5,000  KfE-E X
2| 4 JFEPRT e EIORGINGG O 30,000 30,0000  KFEKE
2 4 JEPNIT g Ki Bk (@] 100,000 100,000 N

2 4 FEPET i e BT O 50,000 50,000 KA
2 4 FEPHT Ak PRk O 50,000 50,000 N
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2 | 4 JEPIHT B [DEETD o) 50,000 50,000 N

2 4 FEIT s EH iz O 50,000 50,000 N

2 4 JENRT i e (©] 20,000 20,000 KT
2 | 4 FEPIT B g 1 @) 30,000 30,000|  AKFE- KT
2 4 FENRT et Ve & O 50,000 50,000  Kfi- K&
2 4 FEpT i M e O 30,000 30,000  AKFFKE
2 | 4 JEPIHT g R EE O 30,000 30,000(  KFE KE
2 4 FENHT i K &% O 30,000 30,000  KFFKE
2 4 JE i e BEMAENENRGR T 7—24] O 500,000 500,000| K2 - Kfif- KE
2 5 FENHT ' BB it (@] 10,000 10,000 K

3 1 JEPIRT e R WK O 5,000 5,000  AKFig-ZIE
3 1 JFEPNHT e =M= (@] 50,000 50,000 7Kk Br3E
3 1 FEplT i Y EHR (@] 5,000 5,000  KFE- KE
3 1 FEPNHT £ g R (@] 5,000 5,000  Kfiie KE
3 1 FEplT i iy 5 O 10,000 10,000 Kl

3 1 FEPNHT £ ek (@] 50,000 50,000  AKFif- KE
3 1 FEplT i [a Sl (@] 10,000 10,000{  ZKfE- K
3 1 FEpaHT e A % (@] 5,000 5,000 K

3 1 FEpiT = =il w2 O 40,000 40,000 Kl

3 1 FEPgHT e TiE ik (@] 10,000 10,000{  ZKFE- KH
3 1 FEpiT = Fa[s —is O 10,000 10,000| Ak K
3 1 JE Ll e Wedr Wit O 10,000 10,000 IKFf

3 1 FEpiT = [DE e e O 10,000 10,000 Kl

3 1 FEPgHT e R i (@] 20,000 20,000 KFife KE
3 1 FEPET g EH (@] 40,000 40,000  AKfE- KE
3 1 FEPHT g SR AR BN R O 6,000 6,000  KfEeKE
3 2 FEPET i IEF R AR (@] 10,000 10,000{  ZKfE- KT
3 3 JEPNIT Al TiE A2H (@] 50,000 50,000 K
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3 5 FEpmy g wH #H#E O 20,000 20,000|  KFE-KE
3 5 FEpaT e R Wk O 5,000 5,000 K
3 5 JENRT i Fo K— (©] 10,000 10,000|  JkFE-Z1E
3 5 FENHT S TERE (@] 10,000 10,000| Ak« fE A
3| 5 FERmT Al fri —& ) 5,000 5,000  KFE-KE
3 5 FEpT e s O 10,000 10,000 K
3| 5 HEpmT e LS O 40,000 40,000  AkfE- KE
3 5 FEpT S TR R O 5,000 5,000  KFE-KE
3 5 FENRT et TR O 30,000 30,000(  KfE- KE
3 5 FEpT i i T O 30,000 30,000  AKFF KT
3 5 FEplT i FEEE Y O 100,000 100,000\ /K- K&
3 6 JE Ll e TR W O 1,000 1,000 IKFif
3 6 JEPIRT e " K O 30,000 30,000  AKFiE-ZIE
3 6 JE Ll £ R O 50,000 50,000  AKfif-ZIE
3 6 FEplT i I e O 30,000 30,000 Kl
3 6 FEPNHT £ 5 (@] 5,000 5,000 K
3 6 FENRT i FEE O 30,000 30,000  AKFiE-ZIE
3 6 FEpaHT e W t— (@] 20,000 20,000 AKFife KE
3 6 FEpiT = A fh— (@] 10,000 10,000| Ak K
3 6 FEPgHT e TRE K O 30,000 30,000 K
3 6 FEpiT i JIgE —E O 100,000 100,000 Kl
3 6 FEPgHT e Ly =& O 1,000,000 1,000,000 K
3 6 FEpiT = iR FR O 100,000 100,000 Kl
3 6 JEPNET e T Fofst O 50,000 50,000 K
3 6 FEPET g PEFD AL O 10,000 10,000 KA
3 6 JEPNIT i o HEL @] 30,000 30,000 K
3 6 FEPET > g fo O 10,000 10,000 KA
3 6 JEPNIT g JEEE IERH (@] 50,000 50,000  AKFife KE
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3| 6 HEmT e =4 & O 50,000 50,000 N
3 6 FEIT s fars e — (@] 30,000 30,000 AKfE- KE
3 6 FEpmy i P2 R (©] 30,000 30,000 K
3 6 FENHT S RO O 100,000 100,000 KA
3 6 FENRT et MR B PR (@] 100,000 100,000\  Kfif-Z1E
3 6 FENIT i HASHRWERT 7 — 4 O 100,000 100,000 K
4 3 FENRT et ANBPSE B (@] 10,000 10,000 K
4 3 FEPHT ES ahl wwE (@] 10,000 10,000 KA
4 3 FEPHT e Wt O 10,000 10,000| Ak K
4 3 FEpT i AH 2 (@] 5,000 5,000  Kfii- KT
4 3 FENRT e ATE H O 10,000 10,000 Kl
4 3 JFEPNHT e PSS O 50,000 50,000  AKFifi- KE




